IND@RACK IR6020 G/P

NETWORK GABINET Petunjuk Perakitan
oo

Code Qty Description Code  Qty Description Code Qiy Description Code Qy Description
Al lpes Top Panel 600mm Bl 2pes  Side Door (with keys) Cl 2pes Frame20U DI lpes Glass/ Perforated Front Door 20U
A2 lpes  Bottom Panel 600mm €2 dpes  Vertical Mounting 890mm D2 2pes  Double Swing Rear Door 20U

A3 lpes FS60 (Fixed Shelf 400mm)

A4 4pes  Horizontal Mounting 520mm
AS_lpes FMO2 Fan Modular with 2 Fan

AG Tpes FanPower Cable

A7 dpes CAOI (Castor)

A8 dpes  AFOI (Adjustable Feet)

A9 lpes BRP (Top Cover Brush Panel)
Al0 2pes  CR4S (Cable Ring 45mm - Left & Right)
ALl 3pes Plate 1U for Top & Bottom Panel
A2 Ipes Plate2U for Top Panel

A dpes Stop Door for Side Panels

B lpes StopDoor for Rear Door
€ 3pes Door Hinge Pin

D 3pes M6 Hex Nut

E  16pes M3.5%6
F
G

H

Q

3 lunit PDUSG (Power Distribution Unit § Outlets)

16pes M6*12
100 pes M6*18
16pcs Ms*12

aF ¥ T T Fe

MéHexNu M35 Mee12 M1 Mse12

Page 1



IND@RACK IR6020 G/P

N NORK GABINET Petunjuk Perakitan

TB600 1R6020 FR20
Code  Qty Description Code  Qty Description Code  Qty Description Code  Qty Description
Al lpes  Top Panel 600mm Bl 2pes  Side Door (with keys) Cl 2pes  Frame 20U DI lpes Glass/ Perforated Front Door 20U
A2 lpes  Bottom Panel 600mm €2 4dpes  Vertical Mounting $90mm D2 2pes Double Swing Rear Door 20U
A3 lpes FS60 (Fixed Shelf 400mm) C3  lunit PDUSG (Power Distribution Unit 8 Outlets)

A4 dpes Horizontal Mounting 520mm

A5 1pcs  FMO02 Fan Modular with 2 Fan

A6 Ipes Fan Power Cable

A7 dpes CAOI (Castor)

AS  dpes  AFOL (Adjustable Feet)

A9 1pes BRP (Top Cover Brush Panel)
Al0 2pes  CR4S (Cable Ring 45mm - Left & Right)
ALl 3pes Plate 1U for Top & Bottom Panel
AL2 Ipes Plate2U for Top Panel

A dpes Stop Door for Side Panels

B lpes  Stop Door for Rear Door
C 3pes Door Hinge Pin

D 3pes M6 Hex Nut

E  16pcs M3.S*6
F
G

H

16pes M6*12
100 pes M6*18
16pes M8*12

eF ¥ T o we

MeHexNu M5 Mee12 M1 Ms*12

Page 2



	INDORACK_ManualInstallation_IR6020-1
	INDORACK_ManualInstallation_IR6020-2

